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A square park has area 4356 m”. Taking its one round is same as taking one round

of another circular park. Find the area of the circular park
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Kulbhushan started a juice (syrup + water) counter. Initially, he had 140 litres of
juice which had 40% water in it. He sold 30 litres of the juice. Then he added

equal amounts of syrup and water. Now the ratio of water to syrup became 3 ¢ 4.

What quantity of water was added?
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The radius of a spherical balloon increase from 6 cm to 10 cm when more air is

pumped into it. The ratio in the surface area of the original balloon and the

inflated balloon is:
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In a school, some students from section A were shifted to section B of Class X, and
thereby, the number of students in section B increased by 12%. But at a later
stage, all of them were shifted back to section A. By that percentage (correct up to
two decimal places) did the number of students of section B decrease?
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For a 14-day camp, sufficient supplies are available for 300 people. 50 more people

arrive on day 1 itself. For how many days will these supplies be sufficient for all
these people?
14 Tt o forfer o forw 300 @ 6 foTu vt e i Suetsdr §1 weer f 2 50 o
T 98 SITd g1 S a1 o o fore o muﬁﬁmﬁﬁﬁa@i
\’ o, = W\g_’(ﬂ :
}G/J‘D DL 3$€i> *O

6 s 2. 11
V\/ ;:3' %\%&) 3. 10



SSC MTS 2022-23

Two dealers offer an item at the same marked price, Rs. 2,000. Due to the festive
season, the first dealer allows successive discounts of 25% and 15%, and the other
dealer allows successive discounts of 10% and 30%. At what price is the item
available in the better offer?
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The sum of two numbers is 140. If their LCM is 240 and HCF is 20, then find the

smaller number.
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If the volume of a cube is 81\/§ cm?, then its total surface area is
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A person travels equal distances at speeds of 5 km/h, 8 km/h and 10 km/h and
takes a total time of 2 hours and 33 minutes. The total distance travelled by him

was.
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The sum of three numbers is 272. If the ratio between the first and secondis 3 : 5
and that between the second and third is 5 ¢ 8, then the third number is:
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